
https://www.pass4itsure.com/1z0-1093-23.html
2024 Latest pass4itsure 1Z0-1093-23 PDF and VCE dumps Download

 

 

 

1Z0-1093-23Q&As

Oracle Cloud Database Services 2023 Professional

Pass Oracle 1Z0-1093-23 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/1z0-1093-23.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

Latest 1Z0-1093-23 Dumps | 1Z0-1093-23 PDF Dumps | 1Z0-1093-23 VCE Dumps                                1 / 6

https://www.pass4itsure.com/1z0-1093-23.html
https://www.pass4itsure.com/1z0-1093-23.html
https://www.pass4itsure.com/1z0-1093-23.html


https://www.pass4itsure.com/1z0-1093-23.html
2024 Latest pass4itsure 1Z0-1093-23 PDF and VCE dumps Download

QUESTION 1

Which components are you responsible for when patching with Exadata Database Service? 

A. Exadata Cloud Infrastructure and Database Homes 

B. Oracle is responsible for patching all components. 

C. Exadata Cloud Infrastructure, Grid Infrastructure, and Database Homes 

D. Database Homes, Grid Infrastructure, and Virtual Machine Operating System 

Correct Answer: D 

 

QUESTION 2

What three capabilities does the database fleet summary provide? (Choose three.) 

A. View database log entries. 

B. View the current database resource usage. 

C. View the status of the databases. 

D. Migrate databases to OCI. 

E. Compare database performance metrics over time. 

F. Execute a DDL command on the databases. 

Correct Answer: BCE 

 

QUESTION 3

Which statement is FALSE about a compartment? 

A. It can be organized in a hierarchical fashion. 

B. After creating a compartment, you need to write at least one policy for it. 

C. Compartments are not tenancy-wide, across regions. 

D. It allows you to isolate resources. 

Correct Answer: B 

 

QUESTION 4

What should you do to verify that tables are loaded in HeatWave? 
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A. Query the LOAD_STATUS data from the HeatWave Performance Schema tables. 

B. Use the MySQL Workbench ANALYTIC_LOAD_STATUS View dialog to list the loaded tables. 

C. Open the OCI navigation menu. Under MySQL HeatWave Clusters select view Load status. 

D. Run the execute SQL command to find the LOAD_STATUS of the appropriate tables in the MySQL Performance
Schema. 

E. From the OCI MySQL DB System Details page select HeatWave Cluster Information to list the TABLE_STATUS of
all loaded tables. 

Correct Answer: A 

 

QUESTION 5

Which three statements are true about Exadata Snapshots on the Exadata Database Service? (Choose three.) 

A. Exadata Snapshots utilize the Exadata SPARSE disk group to store the sparse files that contain all the data that is
read and written by the Snapshots. 

B. Exadata Snapshots are unable to utilize all the Exadata features. 

C. Exadata Snapshots utilize the Exadata SPARSE disk group to store the sparse files that contain only changed
blocks. 

D. Multiple users can create independent Exadata Snapshots from the same test master, which is a full Read-Only
clone of the source database. 

E. Before creating Exadata Snapshots from the test master, you can modify the data in the test master, if required. 

Correct Answer: CDE 

 

QUESTION 6

Which component is NOT included as part of an Oracle NoSQL table Oracle Cloud Identifier (OCID)? 

A. Unique ID 

B. Region 

C. Resource type 

D. Compartment ID 

Correct Answer: B 

 

QUESTION 7

In Exadata Database Service, you use Oracle Data Guard for disaster recovery. 
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What is the minimum egress requirement needed to enable Data Guard between Exadata Cloud Services? 

A. Enable egress for TCP traffic only for port 1521. 

B. Enable ingress for TCP traffic only for port 1521. 

C. Enable egress for TCP traffic for all outbound ports. 

D. Enable egress for TCP traffic only for port 22. 

E. Enable egress for TCP traffic only for port 1521 and port 22. 

Correct Answer: A 

 

 

QUESTION 8

What is the NoSQLHandle interface NOT used for? 

A. to set the row retention time 

B. to gets rows from a table 

C. to get dynamic information on a table 

D. to access multiple tables 

Correct Answer: A 

 

QUESTION 9

You have permanently deleted your MySQL database system. 

What happens to the two backups that are associated with the deleted database system? 

A. They are archived and moved to Oracle Cloud Infrastructure file storage. 

B. They are retained for their retention periods. 

C. They are automatically deleted along with the database system. 

D. They are moved to Oracle Cloud Infrastructure Object Storage. 

Correct Answer: B 

 

QUESTION 10

Which is NOT a prerequisite forpatching Grid Infrastructure or database homes when using the console? 

A. The /u01 directory on the database host file system has at least 15 GB of free space for the execution of Patching
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processes. 

B. Oracle Clusterware is down on the VM cluster. 

C. Therequired patch is available on the Control Plane server. 

D. All database compute nodes of the VM cluster are up and running. 

Correct Answer: B 

 

QUESTION 11

Assume that there are no resource limits on your underlying Exadata Cloud@Customer hardware. What is the
maximum number of Autonomous container databases that can be created on one Autonomous VM cluster? 

A. 12 

B. 4 

C. 5 

D. 32 

Correct Answer: A 

 

QUESTION 12

Your MySQL Database Service system is automatically backed up between midnight and 1 AM. What must you do to
change the starting time to 4 AM? 

A. Select Backup Window from the Edit MySQL DB System Details page and set the start time to 4 AM. 

B. Use the mysqlbackup command to establish a 4 AM backup start time. 

C. Update the Oracle Cloud Infrastructure (OCI) MySQL DB System Details page to specify the 4 AM backup window
start time. 

D. Edit the OCI MySQL DB System Details to set the Enable Automatic Backups time to 4 AM. 

Correct Answer: C 

 

QUESTION 13

Which statement is true about MySQL Database Service? 

A. It is a public cloud service built on MySQL Community Edition. 

B. Its users are responsible for database and operating system patching tasks. 

C. It is a fully managed Oracle Cloud Infrastructure (OCI) native service. 
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D. It supports MySQL Enterprise Edition version 5.7 with InnoDB Storage Engine. 

Correct Answer: C 

 

QUESTION 14

Which THREE Oracle Cloud Infrastructure (OCI) services can be used to connect to on- premises networks? (Choose
all correct answers) 

A. Internet Gateway 

B. Fastconnect 

C. Dynamic Routing Gateway (DRG) 

D. Service Gateway 

E. IPSec VPN 

Correct Answer: BCE 

 

QUESTION 15

Which two statements are true about changing the shape of a virtual machine (VM) database (DB) system to adapt to
changes in performance needs? (Choose two.) 

A. It is possible to change the shape of a VM DB system without impacting the amount of storage available to the DB
system. 

B. It is possible to change the shape of a VM DB system with a higher number of OCPUs. However, reducing the
number of OCPUs is not permitted. 

C. After you provision a VM DB system with a shape that supports Oracle RAC, you can change the current shape to
another shape that does not support Oracle RAC. 

D. After you provision a VM DB system, you cannot change the shape; you have to provision another VM DB system
using a full backup. 

E. If the current shape of the VM DB system supports Oracle Real Application Clusters (RAC), then you can only
change the current shape to another shape that also supports Oracle RAC. 

Correct Answer: AE 

Latest 1Z0-1093-23 Dumps 1Z0-1093-23 PDF Dumps 1Z0-1093-23 VCE Dumps

Powered by TCPDF (www.tcpdf.org)

Latest 1Z0-1093-23 Dumps | 1Z0-1093-23 PDF Dumps | 1Z0-1093-23 VCE Dumps                                6 / 6

https://www.pass4itsure.com/1z0-1093-23.html
https://www.pass4itsure.com/1z0-1093-23.html
https://www.pass4itsure.com/1z0-1093-23.html
http://www.tcpdf.org
https://www.pass4itsure.com/1z0-1093-23.html
https://www.pass4itsure.com/1z0-1093-23.html
https://www.pass4itsure.com/1z0-1093-23.html

